

## A NOTE ON TYPE 2 POLYEXPONENTIAL EULER POLYNOMIALS AND NUMBERS

WASEEM A. KHAN\* AND SUNIL K. SHARMA

ABSTRACT. In this paper, we construct the type 2 polyexponential Euler polynomials and numbers, are called the type 2 polyexponential Euler polynomials and numbers by using polyexponential functions and derive several properties on the type 2 polyexponential Euler polynomials and numbers. Then, we introduce type 2 unipoly-Euler polynomials by using polyexponential functions and investigate some properties of them. Furthermore, we derive some new explicit expressions and identities of type 2 unipoly-Euler polynomials and related to special numbers and polynomials.

### 1. Introduction

Special polynomials have their origin in the solution of the differential equations (or partial differential equations) under some conditions. Special polynomials can be defined in a various ways such as by generating functions, by recurrence relations, by  $p$ -adic integrals in the sense of the fermionic and bosonic, by degenerate versions, etc.

The aim of this paper is to study the type 2 Euler polynomials and numbers by using polyexponential functions, namely type 2 polyexponential Euler polynomials and numbers, in the spirit of [1]. They were recently introduced by Kim-Kim [13]. We derive their explicit expressions and some identities involving them. Further, we introduce the type 2 unipoly-Euler polynomials and numbers. Again, we deduce their explicit expressions and some identities related to them.

As is well known, the type 2 Bernoulli polynomials  $B_n(x)$ , ( $n \geq 0$ ) and the type 2 Euler polynomials  $E_n(x)$ , ( $n \geq 0$ ) are, respectively, defined by

$$e^{xt} \frac{t}{2} \operatorname{csc} h \frac{t}{2} = \frac{t}{e^{\frac{1}{2}t} - e^{-\frac{1}{2}t}} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (1.1)$$

and

$$e^{xt} \operatorname{sec} h \frac{t}{2} = \frac{2}{e^{\frac{1}{2}t} + e^{-\frac{1}{2}t}} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see [3, 14]}). \quad (1.2)$$

---

2000 *Mathematics Subject Classification.* 33C45, 11B73, 11B83, 05A19.

*Key words and phrases.* polyexponential functions, type 2 Euler polynomials, unipoly function.

For  $x = 0$ ,  $B_n(0) := B_n$  (or  $E_n(0) := E_n$ ) are called the type 2 Bernoulli (or type 2 Euler) numbers.

For  $k \in \mathbb{Z}$ , the polylogarithm function is defined by

$$\text{Li}_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k}, (|x| < 1), (\text{see [5]}). \quad (1.3)$$

Note that

$$\text{Li}_1(x) = \sum_{n=1}^{\infty} \frac{x^n}{n} = -\log(1-x). \quad (1.4)$$

For  $k \in \mathbb{Z}$ , Kim-Kim considered the polyexponential function, as an inverse to the polylogarithm function to be

$$\text{Ei}_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{(n-1)!n^k}, (\text{see [13]}). \quad (1.5)$$

It is notice that

$$e(x, 1/k) = \frac{1}{x}\text{Ei}_k, \quad \text{Ei}_1(x) = \sum_{n=1}^{\infty} \frac{x^n}{n!} = e^x - 1. \quad (1.6)$$

In [1], Dolgy-Jang introduced the poly-Genocchi polynomials arising from polyexponential function as

$$\frac{2\text{Ei}_k(\log(1+t))}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n^{(k)}(x) \frac{t^n}{n!}, (k \in \mathbb{Z}). \quad (1.7)$$

In the case when  $x = 0$ ,  $G_n^{(k)}(0) = G_n^{(k)}$  are called the poly-Genocchi numbers. Note that  $G_n^{(1)}(x) = G_n(x)$  are called the ordinary Genocchi polynomials.

Yoshinori [2] introduced the poly-Euler polynomials and numbers are defined by

$$\frac{2\text{Li}_k(1-e^{-t})}{t(e^t + 1)} = \sum_{n=0}^{\infty} E_n^{(k)}(x) \frac{t^n}{n!}. \quad (1.8)$$

In the case when  $x = 0$ ,  $E_n^{(k)}(0) = E_n^{(k)}$  are called the poly-Euler numbers. In particular, for  $k = 1$ ,  $E_n^{(1)}(x) = E_n(x)$  are called the ordinary Euler numbers.

The Daehee polynomials are defined by

$$\frac{\log(1+t)}{t}(1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}, (\text{see [12, 17, 19]}). \quad (1.9)$$

When  $x = 0$ ,  $D_n(0) = D_n$  are called the Daehee numbers.

For  $n \geq 0$ , the Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{l=0}^n S_1(n, l)x^l, \text{ (see [4-8]),} \quad (1.10)$$

where  $(x)_0 = 1$ , and  $(x)_n = x(x-1)\cdots(x-n+1)$ , ( $n \geq 1$ ). From (1.10), it is easily to see that

$$\frac{1}{k!}(\log(1+t))^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \text{ (} k \geq 0 \text{), (see [9-12]).} \quad (1.11)$$

In the inverse expression to (1.10), the Stirling numbers of the second kind are defined by

$$x^n = \sum_{l=0}^n S_2(n, l)(x)_l. \quad (1.12)$$

From (1.12), we see that

$$\frac{1}{k!}(e^t - 1)^k = \sum_{n=l}^{\infty} S_2(n, l) \frac{t^n}{n!}, \text{ (see [1-19]).} \quad (1.13)$$

## 2. Type 2 polyexponential-Euler polynomials and numbers

In this section, we introduce the type 2 poly-Euler polynomials and numbers employing the polyexponential functions and represent the usual type 2 Euler numbers (more precisely, the value of type 2 Euler polynomials at 1) when  $k = 1$ . At the same time, we give explicit expressions and identities involving those polynomials.

In view of (1.7) and using the polyexponential functions, we define the type 2 polyexponential Euler polynomials by

$$\frac{2\text{Ei}_k(\log(1+t))}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} e^{xt} = \sum_{n=0}^{\infty} E_n^{(k)}(x) \frac{t^n}{n!}, \text{ (} k \in \mathbb{Z} \text{).} \quad (2.1)$$

In the case when  $x = 0$ ,  $E_n^{(k)}(0) := E_n^{(k)}$  are called the type 2 polyexponential Euler numbers.

For  $k = 1$ , by using (1.2) and (2.1), we see that

$$\frac{2\text{Ei}_1(\log(1+t))}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} e^{xt} = \frac{2}{e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t)} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (2.2)$$

where  $E_n(x)$  are called the type 2 Euler polynomials.

By (2.1) and (2.2), we get

$$E_n^{(1)}(x) = E_n(x), \text{ (} n \geq 0 \text{).}$$

**Theorem 2.1.** For  $k \in \mathbb{Z}$  and  $n \geq 0$ , we have

$$E_n^{(k)} = \sum_{l=0}^n \binom{n}{l} \sum_{m=0}^l \frac{1}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1} E_{n-l}.$$

*Proof.* From (2.1), we note that

$$\begin{aligned} \frac{2\text{Ei}_k(\log(1+t))}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} &= \frac{2}{e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t)} \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k-1}} \sum_{l=m+1}^{\infty} S_1(l, m+1) \frac{t^l}{l!} \\ &= \frac{2}{e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t)} \sum_{m=0}^{\infty} \frac{1}{(m+1)^{k-1}} \sum_{l=m}^{\infty} \frac{S_1(l+1, m+1)}{l+1} \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} E_n \frac{t^n}{n!} \sum_{l=0}^{\infty} \sum_{m=0}^l \frac{1}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1} \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \binom{n}{l} \sum_{m=0}^l \frac{1}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1} E_{n-l} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.3)$$

Therefore, by (2.1) and (2.3), we complete the proof.  $\square$

**Corollary 2.1.** For  $n \geq 0$ , we have

$$E_n = \sum_{l=0}^n \binom{n}{l} \sum_{m=0}^l \frac{S_1(l+1, m+1)}{l+1} E_{n-l}.$$

**Theorem 2.2.** For  $k \in \mathbb{Z}$  and  $n \geq 0$ , we have

$$E_n^{(k)}(x) = \sum_{m=0}^n \binom{n}{m} E_{n-m}^{(k)} x^m = \sum_{m=0}^n \binom{n}{m} E_m^{(k)} x^{n-m}.$$

*Proof.* From (2.1), we note that

$$\begin{aligned} \sum_{n=0}^{\infty} E_n^{(k)}(x) \frac{t^n}{n!} &= \frac{2\text{Ei}_k(\log(1+t))}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} e^{xt} \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} E_{n-m}^{(k)} x^m \right) \frac{t^n}{n!} \\ \text{or} &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} E_m^{(k)} x^{n-m} \right) \frac{t^n}{n!}. \end{aligned} \quad (2.4)$$

Therefore, by (2.1) and (2.4), we obtain the result.  $\square$

**Theorem 2.3.** Let  $n \geq 0$ , and  $k \in \mathbb{Z}$ , we have

$$\frac{d}{dx} E_n^{(k)}(x) = n E_{n-1}^{(k)}(x).$$

*Proof.* By using Theorem 2.2, we observe that

$$\begin{aligned}
 \frac{d}{dx} E_n^{(k)}(x) &= \frac{d}{dx} \sum_{m=0}^n \binom{n}{m} E_{n-m}^{(k)} x^m \\
 &= \sum_{m=1}^n \binom{n}{m} E_{n-m}^{(k)} x^{m-1} = \sum_{m=0}^{n-1} \binom{n}{m+1} E_{n-m}^{(k)} (m+1) x^m \\
 &= n \sum_{m=0}^{n-1} \frac{(n-1)!}{m!(n-m-1)!} E_{n-m}^{(k)} x^m = n E_{n-m}^{(k)}(x). \tag{2.5}
 \end{aligned}$$

Therefore, by comparing on both sides of  $t^n$  in (2.5), we get the result.  $\square$

For the next theorem, we need the following well known identity, (see [1, 17])

$$\left( \frac{t}{\log(1+t)} \right)^r (1+t)^{x-1} = \sum_{n=0}^{\infty} B_n^{(n-r+1)}(x) \frac{t^n}{n!},$$

where  $B_n^{(n)}$  is the Bernoulli numbers of order  $n$  at  $x = 0$ .

**Theorem 2.4.** For  $n \in \mathbb{N}$  and  $k \in \mathbb{Z}$ , we have

$$\begin{aligned}
 E_n^{(k)} &= \sum_{m=0}^n \binom{n}{m} \sum_{m_1+\dots+m_{k-1}=m} \binom{m}{m_1, \dots, m_{k-1}} E_{n-m} \\
 &\times \frac{B_{m_1}^{(m_1)}(0)}{m_1+1} \frac{B_{m_2}^{(m_2)}(0)}{m_1+m_2+1} \dots \frac{B_{m_{k-1}}^{(m_{k-1})}(0)}{m_1+\dots+m_{k-1}+1}.
 \end{aligned}$$

*Proof.* First, we note that

$$\begin{aligned}
 \frac{d}{dx} \text{Ei}_k(\log(1+x)) &= \frac{d}{dx} \sum_{n=1}^{\infty} \frac{(\log(1+x))^n}{n^k(n-1)!} \\
 &= \frac{1}{(1+x)\log(1+x)} \sum_{n=1}^{\infty} \frac{(\log(1+x))^n}{n^{k-1}(n-1)!} = \frac{1}{(1+x)\log(1+x)} \text{Ei}_{k-1}(\log(1+x)). \tag{2.6}
 \end{aligned}$$

Thus, by (2.6), for  $k \geq 2$ , we get

$$\begin{aligned}
 \text{Ei}_k(\log(1+x)) &= \int_0^x \frac{1}{(1+t)\log(1+t)} \text{Ei}_{k-1}(\log(1+t)) dt \\
 &= \int_0^x \underbrace{\frac{1}{(1+t)\log(1+t)} \int_0^t \dots \frac{1}{(1+t)\log(1+t)} \int_0^t \frac{1}{(1+t)\log(1+t)} dt \dots dt}_{(k-2)\text{-times}} \\
 &\quad \times \text{Ei}_1(\log(1+t)) dt \dots dt \\
 &= \int_0^x \underbrace{\frac{1}{(1+t)\log(1+t)} \int_0^t \dots \frac{1}{(1+t)\log(1+t)} \int_0^t \frac{1}{(1+t)\log(1+t)} dt \dots dt}_{(k-2)\text{-times}}. \tag{2.7}
 \end{aligned}$$

From (2.1) and (2.7), we get

$$\begin{aligned} \sum_{n=0}^{\infty} E_n^{(k)} \frac{x^n}{n!} &= \frac{2\text{Ei}_k(\log(1+x))}{x \left( e^{\frac{1}{2}}(x) + e^{-\frac{1}{2}}(x) \right)} = \frac{2}{x \left( e^{\frac{1}{2}}(x) + e^{-\frac{1}{2}}(x) \right)} \\ &\times \int_0^x \underbrace{\frac{1}{(1+t)\log(1+t)} \int_0^t \frac{1}{(1+t)\log(1+t)} \cdots \int_0^t \frac{t}{(1+t)\log(1+t)} dt \cdots dt}_{(k-2)\text{-times}} dt \cdots dt. \end{aligned} \quad (2.8)$$

$$\begin{aligned} &= \frac{2x}{x \left( e^{\frac{1}{2}}(x) + e^{-\frac{1}{2}}(x) \right)} \sum_{m=0}^{\infty} \sum_{m_1+\cdots+m_{k-1}=m} \binom{m}{m_1, \dots, m_{k-1}} \\ &\quad \times \frac{B_{m_1}^{(m_1)}(0)}{m_1+1} \frac{B_{m_2}^{(m_2)}(0)}{m_1+m_2+1} \cdots \frac{B_{m_{k-1}}^{(m_{k-1})}(0)}{m_1+\cdots+m_{k-1}+1} \frac{x^n}{n!} \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} \sum_{m_1+\cdots+m_{k-1}=m} \binom{m}{m_1, \dots, m_{k-1}} E_{n-m} \\ &\quad \times \frac{B_{m_1}^{(m_1)}(0)}{m_1+1} \frac{B_{m_2}^{(m_2)}(0)}{m_1+m_2+1} \cdots \frac{B_{m_{k-1}}^{(m_{k-1})}(0)}{m_1+\cdots+m_{k-1}+1} \frac{x^n}{n!}. \end{aligned} \quad (2.9)$$

Therefore, by comparing the coefficients of  $t^n$  in (2.9), we arrive the desired result.  $\square$

**Corollary 2.2.** For  $n \geq 0$ , we have

$$E_n^{(2)} = \sum_{m=0}^n \binom{n}{m} \frac{B_{m+1}^{(m)}(0)}{m+1} E_{n-m}.$$

**Theorem 2.5.** For  $n \in \mathbb{N}$  and  $k \in \mathbb{Z}$ , we have

$$n \sum_{m=1}^n \binom{n-1}{m} \frac{1}{2^{m-1}} \left[ E_{n-1-m}^{(k)} + (-1)^m E_{n-1-m}^{(k)} \right] = \sum_{m=1}^n \frac{1}{m^{k-1}} S_1(n, m).$$

*Proof.* From (2.1), we note that

$$\begin{aligned} 2\text{Ei}_k(\log(1+t)) &= t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right) \sum_{n=0}^{\infty} E_n^{(k)} \frac{t^n}{n!} \\ &= t \left( \sum_{m=0}^{\infty} \frac{t^m}{2^m m!} + \sum_{m=0}^{\infty} \frac{(-1)^m t^m}{2^m m!} \right) \sum_{n=0}^{\infty} E_n^{(k)} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} \frac{1}{2^m} \left[ E_{n-m}^{(k)} + (-1)^m E_{n-m}^{(k)} \right] \right) \frac{t^{n+1}}{n!} \\ &= \sum_{n=1}^{\infty} \left( \sum_{m=1}^n \binom{n-1}{m} \frac{1}{2^m} \left[ E_{n-1-m}^{(k)} + (-1)^m E_{n-1-m}^{(k)} \right] \right) \frac{t^n}{(n-1)!}. \end{aligned} \quad (2.10)$$

On the other hand,

$$\begin{aligned}
 2\text{Ei}_k(\log(1+t)) &= 2 \sum_{m=1}^{\infty} \frac{(\log(1+t))^m}{(m-1)!m^k} \\
 &= 2 \sum_{m=1}^{\infty} \frac{(\log(1+t))^m}{(m-1)!m^k} \frac{m!}{m!} = \sum_{m=1}^{\infty} \frac{1}{m^{k-1}} \frac{(\log(1+t))^m}{m!} \\
 &= 2 \sum_{m=0}^{\infty} \frac{1}{m^{k-1}} \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!} = 2 \sum_{n=1}^{\infty} \left( \sum_{m=1}^n \frac{1}{m^{k-1}} S_1(n, m) \right) \frac{t^n}{n!}. \quad (2.11)
 \end{aligned}$$

Therefore, by (2.10) and (2.11), we obtain the result.  $\square$

By (2.1), we have

$$\frac{2\text{Ei}_k(\log(1+t))}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} = \sum_{n=0}^{\infty} E_n^{(k)} \frac{t^n}{n!}, \quad (k \in \mathbb{Z}) \quad (2.12).$$

**Theorem 2.6.** For  $n \in \mathbb{N}$ , we have

$$\sum_{m=0}^n E_m^{(k)} S_2(n, m) = \sum_{j=0}^n \sum_{q_2=0}^j \sum_{q_1=0}^{q_2} \binom{j}{q_2} \binom{n}{j} E_{q_1} S_2(q_2, q_1) B_{j-q_2} \frac{1}{(n-j+1)^k}.$$

*Proof.* Replacing  $t$  by  $e^t - 1$  in (2.12), we get

$$\begin{aligned}
 \sum_{m=0}^{\infty} E_m^{(k)} \frac{(e^t - 1)^m}{m!} &= \frac{2\text{Ei}_k(t)}{(e^t - 1) \left( e^{\frac{1}{2}}(e^t - 1) + e^{-\frac{1}{2}}(e^t - 1) \right)} \\
 \frac{2\text{Ei}_k(t)}{e^{\frac{1}{2}}(e^t - 1) + e^{-\frac{1}{2}}(e^t - 1)} &= \frac{2}{e^{\frac{1}{2}}(e^t - 1) + e^{-\frac{1}{2}}(e^t - 1)} \frac{t}{e^t - 1} \frac{\text{Ei}_k(t)}{t} \\
 &= \sum_{q_1=0}^{\infty} E_{q_1} \frac{1}{q_1!} (e^t - 1)^{q_1} \sum_{j=0}^{\infty} B_j \frac{t^j}{j!} \sum_{n=0}^{\infty} \frac{t^n}{n!(n+1)^k} \\
 &= \sum_{n=0}^{\infty} \left( \sum_{j=0}^n \sum_{q_2=0}^j \sum_{q_1=0}^{q_2} \binom{j}{q_2} \binom{n}{j} E_{q_1} S_2(q_2, q_1) B_{j-q_2} \frac{1}{(n-j+1)^k} \right) \frac{t^n}{n!}. \quad (2.13)
 \end{aligned}$$

On the other hand,

$$\begin{aligned}
 \sum_{m=0}^{\infty} E_m^{(k)} \frac{(e^t - 1)^m}{m!} &= \sum_{m=0}^{\infty} E_m^{(k)} \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n E_m^{(k)} S_2(n, m) \right) \frac{t^n}{n!}. \quad (2.14)
 \end{aligned}$$

By comparing the coefficients of  $t^n$  in (2.13) and (2.14), we obtain the result.  $\square$

### 3. Type 2 unipoly-Euler polynomials and numbers

In this section, we introduce type 2 unipoly-Euler polynomials attached to  $p$  and derive several properties and explicit expressions of these polynomials.

Let  $p$  be any arithmetic function which is a real or complex valued function defined on the set of positive integers  $\mathbb{N}$ . Then Kim-Kim [13] defined the unipoly function attached to  $p$  by

$$u_k(x|p) = \sum_{n=1}^{\infty} \frac{p(n)}{n^k} x^n, (k \in \mathbb{Z}). \quad (3.1)$$

It is well known that

$$u_k(x|1) = \sum_{n=1}^{\infty} \frac{x^n}{n^k} = \text{Li}_k(x), (\text{see [5]}). \quad (3.2)$$

In view of (3.1), we define the type 2 unipoly-Euler polynomials attached to  $p$  by

$$\frac{2u_k(\log(1+t)|p)}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} e^{xt} = \sum_{n=0}^{\infty} E_{n,p}^{(k)}(x) \frac{t^n}{n!}. \quad (3.3)$$

In the case when  $x = 0$ ,  $E_{n,p}^{(k)}(0) := E_{n,p}^{(k)}$  are called the type 2 unipoly-Euler numbers attached to  $p$ .

If we take  $p(n) = \frac{1}{\Gamma(n)}$ . Then, we have

$$\begin{aligned} \sum_{n=0}^{\infty} E_{n, \frac{1}{\Gamma}}^{(k)} \frac{t^n}{n!} &= \frac{2}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} u_k\left(\log(1+t) \middle| \frac{1}{\Gamma}\right) \\ &= \frac{2}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} \sum_{m=1}^{\infty} \frac{(\log(1+t))^m}{m^k(m-1)!} \\ &= \frac{2}{t(e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t))} u_k(\log(1+t)) = \sum_{n=0}^{\infty} E_n^{(k)} \frac{t^n}{n!}. \end{aligned} \quad (3.4)$$

Thus, by (3.4), we obtain

$$E_{n, \frac{1}{\Gamma}}^{(k)} = E_n^{(k)}, (n \geq 0). \quad (3.5)$$

**Theorem 3.1.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$E_{n,p}^{(k)} = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{p(m+1)(m+1)! S_1(l+1, m+1)}{(m+1)^k} \frac{1}{l+1} E_{n-l}.$$



In particular,

$$E_{n, \frac{1}{r}}^{(k)} = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{E_{n-l}}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1}.$$

*Proof.* From (3.5), we have

$$\begin{aligned} \sum_{n=0}^{\infty} E_{n, \lambda}^{(k)} \frac{t^n}{n!} &= \frac{2}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \sum_{m=1}^{\infty} \frac{p(m)(\log(1+t))^m}{m^k} \\ &= \frac{2}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \sum_{m=0}^{\infty} \frac{p(m+1)(\log(1+t))^{m+1}}{(m+1)^k} \\ &= \frac{2}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \sum_{m=0}^{\infty} \frac{p(m+1)(m+1)!}{(m+1)^k} \sum_{l=m+1}^{\infty} S_1(l, m+1) \frac{t^l}{l!} \\ &= \frac{2}{e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t)} \sum_{m=0}^{\infty} \frac{p(m+1)(m+1)!}{(m+1)^k} \sum_{l=m}^{\infty} \frac{S_1(l+1, m+1)}{l+1} \frac{t^l}{l!} \\ &= \left( \sum_{n=0}^{\infty} E_n \frac{t^n}{n!} \right) \left( \sum_{l=0}^{\infty} \sum_{m=0}^l \frac{p(m+1)(m+1)!}{(m+1)^k} \frac{S_1(l+1, m+1)}{l+1} \right) \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{p(m+1)(m+1)!}{(m+1)^k} \frac{S_1(l+1, m+1)}{l+1} E_{n-l} \right) \frac{t^n}{n!}. \end{aligned}$$

On comparing the coefficients of  $t$ , we get the result.  $\square$

**Theorem 3.2.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$E_{n, p}^{(k)}(x) = \sum_{l=0}^n \binom{n}{l} \sum_{m=0}^l (x)_m S_2(m, l) E_{n-l, p}^{(k)}.$$

*Proof.* Using equations (3.3) and (1.13), we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} E_{n, p}^{(k)}(x) \frac{t^n}{n!} &= \frac{2}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} u_k(\log(1+t)|p) e^{xt} \\ &= \frac{2}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} u_k(\log(1+t)|p) (e^t - 1 + 1)^x \\ &= \frac{2u_k(\log(1+t)|p)}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \left( \sum_{m=0}^{\infty} \binom{x}{m} (e^t - 1)^m \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \binom{n}{l} \sum_{m=0}^l (x)_m S_2(m, l) E_{n-l, p}^{(k)} \right) \frac{t^n}{n!}. \end{aligned} \tag{3.6}$$

Thus, we complete the proof of the theorem.  $\square$

**Theorem 3.3.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$E_{n,p}^{(k)} = \sum_{l=0}^n \sum_{m=0}^l \sum_{j=0}^{n-l} \binom{n-l}{j} \binom{n}{l} D_{n-j-l} E_j \frac{p(m+1)m!}{(m+1)^k} S_1(l, m).$$

*Proof.* Using equations (1.2), (1.9) and (3.5), we see that

$$\begin{aligned} \sum_{n=0}^{\infty} E_{n,\lambda}^{(k)} \frac{t^n}{n!} &= \frac{2}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \sum_{m=1}^{\infty} \frac{p(m)(\log(1+t))^m}{m^k} \\ &= \frac{2}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \sum_{m=0}^{\infty} \frac{p(m+1)(\log(1+t))^{m+1}}{(m+1)^k} \\ &= \frac{2 \log(1+t)}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \sum_{m=0}^{\infty} \frac{p(m+1)m!}{(m+1)^k} \sum_{l=m}^{\infty} S_1(l, m) \frac{t^l}{l!} \\ &= \frac{2 \log(1+t)}{t \left( e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t) \right)} \sum_{l=0}^{\infty} \sum_{m=0}^l \frac{p(m+1)m!}{(m+1)^k} S_1(l, m) \frac{t^l}{l!} \\ &= \frac{\log(1+t)}{t} \frac{2}{e^{\frac{1}{2}}(t) + e^{-\frac{1}{2}}(t)} \sum_{l=0}^{\infty} \sum_{m=0}^l \frac{p(m+1)m!}{(m+1)^k} S_1(l, m) \frac{t^l}{l!} \\ &= \left( \sum_{n=0}^{\infty} D_n \frac{t^n}{n!} \right) \left( \sum_{j=0}^{\infty} E_j \frac{t^j}{j!} \right) \left( \sum_{l=0}^{\infty} \sum_{m=0}^l \frac{p(m+1)m!}{(m+1)^k} S_1(l, m) \frac{t^l}{l!} \right). \end{aligned}$$

On comparing the coefficients of  $t$ , we obtain the result.  $\square$

#### 4. Conclusion

In this article, we introduced type 2 polyexponential Euler polynomials by arising from polyexponential functions and derived several properties of these polynomials. Specially, we obtained various expressions of type 2 polyexponential Euler polynomials in terms of Euler, Bernoulli polynomials and Stirling numbers of the first kind and second kind in Theorem 2.1 to 2.6. Finally, we considered type 2 unipoly-Euler polynomials attached to  $p$  by using polyexponential functions and investigated some identities of for those polynomials. Besides, we obtained some identities relating between type 2 Euler numbers, Daehee numbers and Stirling numbers of the first and second kind in Theorem 3.1 to 3.3.

**Author Contributions:** All authors contributed equally to the manuscript and typed, read, and approved final manuscript.

**Funding:** No.

**Acknowledgements:** No.

**Conflict of Interest:** The authors declare no conflict of interest.

## References

- [1] Dolgy, D.V.; Jang, L.C. A note on the polyexponential Genocchi polynomials and numbers. *Symmetry*. **2020**. (In press).
- [2] Hamahata, Y. Poly-Euler polynomials and Arakwa-Kaneko type zeta function. *Funct. Approx.* **2014**, 51, 7-22.
- [3] Jang, G.-W.; Kim, T. A note on type 2 degenerate Euler and Bernoulli polynomials. *Adv. Stud. Contemp. Math. (Kyungshang)*. **2019**, 29(1), 147-159.
- [4] Haroon, H.; Khan, W.A. Degenerate Bernoulli numbers and polynomials associated with degenerate Hermite polynomials. *Commun. Korean. Math. Soc.* **2018**, 33(2), 651-669.
- [5] Kaneko, M. Poly-Bernoulli numbers. *J. Théor Nombres Bordeaux*. **1997**, 9(1), 221-228.
- [6] Khan, W.A. A note on degenerate Hermite-poly-Bernoulli numbers and polynomials. *J. Classical Anal.* **2016**, 8(1), 65-76.
- [7] Khan, W.A.; Haroon, H. Some symmetric identities for the generalized Bernoulli, Euler and Genocchi polynomials associated with Hermite polynomials. *Springer Plus* **2016** 5:1920.
- [8] Khan, W.A.; Ahmad, M. Partially degenerate poly-Bernoulli polynomials. *Adv. Stud. Contemp. Math.* **2018**, 28(3), 487-496.
- [9] Khan, W.A. A new class of degenerate Frobenius-Euler Hermite polynomials. *Adv. Stud. Contemp. Math.* **2018**, 30(4), 567-576.
- [10] Khan, W.A.; Khan, I.A.; Ali, M. Degenerate Hermite poly-Bernoulli numbers and polynomials with  $q$  parameter. *Stud. Univ. Babeş-Bolyai Math.* **2020**, 65(1), 3-15.
- [11] Khan, W.A.; Khan, I.A.; Ali, M. A note on  $q$ -analogue of Hermite poly-Bernoulli numbers and polynomials. *Mathematica Morvica*. **2019**, 23(2), 1-16.
- [12] Khan, W.A.; Nisar, K.S.; Duran, U.; Acikgoz, M.; Araci, S. Multifarious implicit summation formulae of Hermite-based poly-Daehee polynomials. *Appl. Math. Inf. Sci.* **2018**, 12(2), 305-310.
- [13] Kim, D.S.; Kim, T. A note on polyexponential and unipoly functions. *Russ. J. Math. Phys.* **2019**, 26(1), 40-49.
- [14] Kim, T.; Kim, D.S. A note on type 2 Changhee and Daehee polynomials, *Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM.* **2019**, 113(3), 2783-2791.
- [15] Ryoo, C.S.; Khan, W. A. On two bivariate kinds of poly-Bernoulli and poly-Genocchi polynomials. *Mathematics*. **2020**, 8,417; doi:10.3390/math8030417.
- [16] Sharma, S.K.; Khan, W.A.; Ryoo, C.S. A parametric kind of the degenerate Fubini numbers and polynomials. *Mathematics*. **2020**, 8,405; doi:10.3390/math8030405.
- [17] Sharma, S.K.; Khan, W. A.; Araci, S.; Ahmed S.S. New type of degenerate Daehee polynomials of the second kind. *Adv. Differ. Equ.* **2020**, 2020:428, 14pp.
- [18] Sharma, S. K. A note on degenerate poly-Genocchi polynomials. *Int. J. Adv. Appl. Sci.* **2020**, 7(5), 1-5.
- [19] Simsek, Y. Identities on the Changhee numbers and Apostol-type Daehee polynomials. *Adv. Stud. Contemp. Math. (Kyungshang)*. **2017**, 27, 199-212.

WASEEM A. KHAN: DEPARTMENT OF MATHEMATICS AND NATURAL SCIENCES, PRINCE MOHAMMAD BIN FAHD UNIVERSITY, P.O BOX 1664, AL KHOBAR 31952, SAUDI ARABIA  
*E-mail address:* [wkhan1@pmu.edu.sa](mailto:wkhan1@pmu.edu.sa)

SUNIL K. SHARMA: COLLEGE OF COMPUTER AND INFORMATION SCIENCES, MAJMAAH UNIVERSITY, MAJMAAH 11952, SAUDI ARABIA  
*E-mail address:* [s.sharma@mu.edu.sa](mailto:s.sharma@mu.edu.sa)